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ELEEED

Ab g o &t 2 o & T = 8 g
2217 (A) 24,259,697 M (B) 8,544,380 M (C) 36,193,647
o ei ol 23,514,976 o efof 23,514,976
o119 40! 744,721 EETEN 744,721
EMAHA0Z 3,289,570
S =PlI[E= 100,000
LTV =T 8,544,380 X202 8,544,380
XIEH(A') 22,913,163  XIZH(B') 13,280,484  XIZH(C') 36,193,647
ooyl g 22,794,446 ==TH = 22,794,446
SR 5,000 SEEN 5,000
RERLZFS 7,511,960 RIS 7,511,960
BIHS &bl ko 5 2.707.000 BI7HSEBITAHH 2 707,000
B =R X & 33,000 DJIEINHEXXE 33,000
CEIE] 113,717 ] 3,028,524 ol Bl bl 3,142,241
ol (A-A") 1,346,534  Xtol(B-8') £4,736,104  XHeI(C-C') 0




